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> data «<- read.table(header=TRUE, text=

+ =subject =sex =ize

£ |:|

I
> write.csv(data, "c:/users/user/
> file="c:

zave (data,

> load("c:/users/u=ser/

> dim(data)

M
F
F
M

F

HA
g

Jusers/u=exr/

data.RData"™)

data.csv", row.names=FALSE)
data.RData"™)

data <- read.table(header=TRUE, text="'
subject sex size

(1] 4 3 1 M !
> head {data) 2 F NA
subject sex size 3 F 9
1 1 H 7 4 M 11
2 2 F H& j
3 3 F 9
q 4 M 11
>
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> set.seed(l O 2 .

CoEereE pdf & png ™~ FHEEe dev.off() MFHE
>y <— 0.029%x + rnorm(100)

> pdf ("c:/users/user/zample.pdf™, 7,3)

> plot(x, v, pch=1%, col=rgb(0.5, 0.5, 0.5, 0.5), cex=l1l.35)

> abline(lm(v~X))

> dev.off () A

getwd() -

setwd("c:/users/user") ~ -

|s(data) T

rm(data) o

set.seed(1) o

X <-1:100 0 20 40 60 80 100
y <- 0.029*x + rnorm(100) x

pdf("c:/users/user/sample.pdf’, 7,5)

plot(x, y, pch=19, col=rgb(0.5, 0.5, 0.5, 0.5), cex=1.5)
abline(Im(y~x))

dev.off()
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filepath <- "https://dl.dropbox.com/u/1648032/ggplot2_tutorial dataset.txt"
mydata <- read.table(file=url(filepath), header=T, sep="\t")

mydata

> filepath «<- "https://dl.dropbox.com/u/1648032/ggplotd tutorial dataset.txt”
> mydata <- read.table(file=url (filepath), header=T, =sep="%t")

https:// URLs are not supported by the default method: using "wininetc™

> mydata

Tribe Hab EM warl

1 Lepycerotini L 5S68.25 36.5
2 Bepycerotini L 5S6.25 40.9
3 Aepycerotini L S&8.25 37.0
4 Lepycerotini L 5S68.25 36.2
5 Bepycerotini L 56.25 36.6
B Lepycerotini L Se.25 37.7
7 Lepycerotini L Se.25 37.3
2 Bepycerotini L Se8.25 35.0
g Lepycerotini L 5Se.25 37.7
10 GLepycerotini L 5S6.25 35.3
11 ABlcelaphini O 161.00 45.3
-

12 ABloelaphini O 1e1.00 47,
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IEAEZHEE ggplot2 =4

datn <- read.table(header=TRUE, text='
supp dose length
0OJ 0.5 13.23
0J 1.0 22.70
0J 2.0 26.06
VC 0.5 7.98
VC 1.0 16.77
VC 2.0 26.14
)
ggplot(data=datn, aes(x=dose, y=length, group=supp,
colour=supp)) +
geom_line() +
geom_ point()

]
[
|

20—

supp
oJ

-+ VC

length

> datn «<£- read.table(header=TRUE, text=!
+ supp dose length
+ oJ 0.5 13.23 )
+ 07 1.0 22.70 10
+ oJ 2.0 26.06
+ JC 0.5 7.98
+ o 1.0 1e.77 I I l 1
4 Tl 2.0 26.14 0.5 1.0 1.5 2.0
+ 1) dose
» ggplot (data=datn, aes(x=dosze, y=length, group=supp, colour=supp)) +
+ geom line ()} +
+ geom point ()
I
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datn2 <- datn
ggplot(data=datn2, aes(x=dose, y=Ilength, fill=supp)) +
geom_bar(stat="identity", position=position_dodge())

> datnd <- datn
> ggplot (data=datnZ, aesz(x=dose, v=length, fill=supp))
>

geom bar(stat="identity", position=position dodge())

20—

supp

0J
vC

length

I I I I
05 1.0 15 2.0
dose
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BRIFRE: http://www.dotblogs.com.tw/dragon229/archive/2013/02/04/89919.aspx
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help(rnorm), help(rbind), help(matrix)

## a 2-dimensional example

X <- rbind(matrix(rnorm(100, sd = 0.3), ncol = 2),
matrix(rnorm(100, mean = 1, sd = 0.3), ncol = 2))

colnames(x) <- c("x", "y")

(cl <- kmeans(x, 4))

plot(x, col = cl$cluster)
points(cl$centers, col = 1:4, pch = 8, cex=2)

## random starts do help here with too many clusters
(cl <- kmeans(x, 4, nstart = 25)) 254~ 4>pt #c ¥ ~ B
plot(x, col = cl$cluster)

points(cl$centers, col = 1:4, pch = 8, cex=2)
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rl.R
args <- commandArgs(TRUE)

N <- args[1]
X <- rnorm(N,0,1)

png(filename="temp.png", width=500, height=500)
hist(x, col="lightblue")
dev.off()
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FEME 11 g2%

2HAE
RREH |E (C:) » ProgramFiles » R » R-3.2.0 » bin »
user FEHEEEH) =i EXBHE
=] = | 1386 2015/9/16 FF0.
PATH chnode; Ch\AppSentApache2 2\bin;CHA.. b xbd 2015/5/16 FF 0.
PTSHOME CHhProgram Files (x88)4Cisco Packet Trace... || config.sh 2015/4/17 F5 0.
TEMP %USERPROFILE%\AppData\LocalhTemp R
TP %USERPROFLEY \AppDatatLocal\Temp R R 2015/4/17 T+ 0.
R Rscript 2015/4/17 4 0.
FAN.. || SEE. | #BO) | :
t
REEEE(S)
=] = G
NUMBER_OF PR.. 4 EEZEN): |F"ath
OPEMSSL_COMF  ChAppSentApache?. 2yconfopensslonf . : . :
o5 Windows NT HEEN: |:_Z:"- rogram Files\BYR-3.2 0hbin; 88
Path C\Program Files\R\R-3.2 0\bin;C\Progra... ,
Commw. || #Eo. || BBO |
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rl.php

<?php
echo "<form action="rl.php' method='get'>";

echo "Number values to generate: <input type="text' name='N'" />";

echo "<input type="submit' />";
echo "</form>";

if(isset($_GET['NY))

{
SN =$_GET['N';
shell_exec("rscript r1.R $N");
echo("'<img src="temp.png"' />");

}

?>
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Number values to generate: |1EI[I-I|] | EHES |

Histogram of x
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datal <- read.table('C:/Users/user/customer.txt', header=T, sep="""")

> datal <- read.table ("C:/Users/user/customer.txt", header=T, szep=",")
> names (datal)

[1] "region™ "gender™ Tage™ "edcatc™ "Jobcat™ "employ™ "income"

[E] "job=at™ "marital™ "pets_cats" "pets_dogs" "pets_birds" "pets_small” "pets_saltfish"
[15] "pets freshfish" "homeown" "cardspent"” "cardZ2spent™
> dim(datal)

[1] 100 18

> head(datal)
region gender age edcat Jjobcat employ income jobsat marital pets_cats pets_dogs pets _birds pets_small pets saltfish pets_freshfish

1 1 1 20 3 1 0 31 1 ] 0 0 0 0 0 0
2 5 o 22 4 2 0 15 1 0 i} i} 0 4] 4] &
3 3 1 &7 2 2 la 35 4 1 2 1 4] 4] 4] 4]
4 4 o 23 3 2 0 20 2 1 a 0 0 0 0 0
5 2 0 26 3 2 1 23 1 1 a a 0 0 0 0
& 4 0 64 4 3 22 107 2 4] 1 1 o 2 0 7
homeown cardspent cardZspent
1 0 8l.66 67 .80
2 1 42 .60 34,94
3 1 184,22 175.75
4 1 340.9%9 18.42
5 4] 255.10 252.73
& 1 228.27 0.00
. =3 %
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»> in=stall.package

{as *1lib" i=s unsp

E&H URL "hoop:dS
Content type 'app
downloaded 2.0 MB

E= unL "hoop: /S
Content type 'app
downloaded 286 EB

E= unL "hoop: /S
Content type 'app
downloaded 1.1 MB
& URL 'heep://
Content type 'app
downloaded 1.1 MBE
package ‘jsonlitce
package ‘rmongodb

The downloaded bi

> |

In=s=talling package into

al=o installing tl

package ‘Rcpp' success

package ‘plyr’ success

2 ("rmongodb™)

ecified)

——— Please select a CERAN mirror for use in this session ——-

‘CrifUgers/user/Documents/B/win-1library/3.2"

he d9. iy rary ("rmongodb™)
c¥an.} mongoabec
licaty

[1] ©
attr(, "mongo™)

cran

> mongoabe <— mongo.create (db="blog", username="user0l"™, password="lgaz")

<pointer: 0x000000002194b2d0>

lattr(, "class"™)

licaf " "
ooy | L HHEIR AT

cran.
attr(, "nams")

[1] "127.0.0.1" 2.

MongoDB Mx;ﬁtﬂ??ﬁﬂ MONGODB-CR 5 5=t

licaf _—

[1]

attr(, "username")
[1] "user0Ql™
attr(, "password")
[1] "lga=z"
attr(,"db™)

[1] "]Dll':lg"

attr(, "cimeout™)
[1] ©

Ccramn.
licayg

' =ud

r .
9911 TRUE

> |

nary

> mongo.is.connected (mongoabe)

C:\Users\user‘\AppData‘\Local\Temp'\Rtmp2rEKJHk \downloaded packages
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MongoDB
mongoimport -u user01 -p 1gaz --db blog --collection jsonTable3
--file C:\Users\user\zips.json

C:5Frogram Fi lesSMongolBNServers3 . 05binrmongoimport -u user(l -p lgaz --db blosg
-~col lection jsonTabled --file Cihllsershuserizips. j=on

2015-11-08T23:29:05 . 454+0800 connected to: localhost

2015-11-08T23:29:08 . 344+0800 [HEH AR EHH R EH AR ] blog. jsonTablel

3.0 MBS0 MB 100, 0%)

2015-11-08T23:29:08 ., 364+0200 imported 29353 documents

C:vProgram Files'\MongolBNServers3. hbins g

R

if(mongo.is.connected(mongoabc) == TRUE) {
db <- "blog"
mongo.get.database.collections(mongoabc, db)

}

> if (mongo.i=s.connected (mongoabec) == TRUE)
+ db «<- "blog”
+ mongo.get.database.collections (mongoakbe, db)

[1] "blog.jsonTable3™
ks
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Histogram of pop1

if(mongo.is.connected(mongoabc) == TRUE) {
db <- "blog"

}

if(mongo.is.connected(mongoabc) == TRUE) {

hist(popl)

}

rtablel <- mongo.get.database.collections(mongoabc, db)

popl <- mongo.distinct(mongoabc, rtablel, "pop")

;

[ I I I I
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